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Deading Comprehension

This is a test to show how well you read. The test consists
of two parts: Part I and Part II. Each part has its own instructions.
You will have 50 minutes in which to complete both parts.
Each part is to be finished within 25 minutes.

Part I ¢ Multiple Choiece.

Direction : Read the following passage carefully and
then try to answer the questions following
it. Choose the best answer and mark®your
answer by putting an "X" in the space under

the letter a, b, ¢, or d on the answer sheet.

Example

The word "receive" (line 3) means

a. read
b. write
c. want
d. get

Since "d" is the correct answer, you would
find the number of the problem on your answer sheet and

mark choice d as shown below

a b c d
( ) (¢ ) ( ) « )

Answer all questions of Part I in this manner.

Mark only one answer for each problem. e
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Complex Passages No. 1

-4 V

Satellites orbiting round the earth have provided scientists

with a vast amount of information about conditions in outer space.
By comparison, relatively little isEknown about the internal
structure of the earth. The fact that goigglug_ip easier than

going down is evident. The deepest hole on land went down 25,340
feet-considerably less than the height of Mount Everest. Drilling
a hole under the sea has proved to be even more difficult. The
deepest hole under sea has been about 20,000 feet. Until recently,

scientists have been unable to devise a drill for cutting hard rock.

3l
However, the problem of cutting through hard rock at great

depths has now b .4, Scientists have developed a method

which soundszsurprisinglx simple. A new drill which is bei%EBtested

at Leona Valley Ranch in Texas is driéen by a turbine engine which
is prgiélled by liguid mud péﬁ%ed into it from the surface. As
the diamond t;p of the drill revolves, it is lubrigated by mud.
Scientists have been3amazed to find that it can cut through the

hardest rock with great ease. The drill has beeanesigned to bore
through the earth to a depth of 35,000 feet. It will enable

scientists to obtain samples of the mysterious layer which lies

immediétely below the earth's crust. This layer is Rnown as the

- . 3 . —!+
Mohorovicio Discontinuity. It is commonly re?erred to however, as
'the Moho'.

Before it is possible to drill this deep hole, scientists will
have to overcome a number of problems. Geological tests will be

car?ied out to find the point at which the eg;%h's crust is thinnest.

The three possible sites which are bgiag considered are all at sea:

two in the Atlantic Ocean and ome in the Pacifices Once they have
determined on a site, they will have to erect a drilling vessel which
will not be swept away by ocean currents. The vessel will consist of
an immense platform which will rise to 60 feet above the water.
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2
It will be supgorted by six hollow columns which will descend to
n depth of 60 feet below the ocean surface where they}wlll be fixed

=L
to a huge float. A tall steel tower rising to a height of nearly
30 200 feet will rest on the platform. The drill will be stored in
the tower and will have to be lowered through about 15,000 feet of

water before operations can begin. Theip kﬁEEiEE_Of the platform in
position at sea will also give further problems. To gohthls,

scientists will have to devise methods involving the use of

radar and underwater television. Great care will therefore have

35 to be tgken to keep the platform steady and make it strong enough
to withstand hurricanes. If the project is successful, scientists
will learn a great deal about the earth. They will also possibly

learn more about the nature of the universe itself.

adapted from Developing Skills
by L. G. Alexander

1/ 1: Nominalization 2: Relative Clause
%: Passive Voice L: Grammatical Deletion

words = L82
syllables = 722
sentences = 29

words 3 sentence (sl) = 482 = 16,62
29

syllables: 100 words (wl) = 722 x 100 = 149,79

2
READING EASE = 206.835 - (51 x 1.015) - (wl x .846)

= 206.835 = 16.86 - 126.72
= 63.25

] -
D RoUnIT TS AUNMTENIBY Flesch = LNTA 8-9 (sBanderd)
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Form A

Te Questions Complex Passap: No.1

1. The new method has amazed scientists because of
a. the fact that going up is easier than going down.
b. the platform's being able to withstand hurricanes.
c. the difficulty of drilling a hole under the sea.

d. its capability as a new drill is greater than previous ones.

2. The platform is described as immense, which means:
a. violent
b. large
¢c. frequent

d. not safe

3, "iieeeeeess" it is lubricated by mud." (line 14) the underlined
word refers to
a. the surface
b. mud
¢. a turbine engine

d. the diamond tip

4. "To do this, scientists will have to . . " (line 32-33)
the underlined words refer to
a. to begin the operation.
b. to keep the platform steady.
c. to give further problems.

d. to use radar and television.

S. The single most important reason for devising a new drill is probably
a. the hard rock at great depth.
b. the imaginativeness of scientists.
ce. the thinnest point in the earth's crust.
d. the obtaining of unknown samples from the earth's crust.

TR EREEREENEE B BN
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Form B

lLess-Comnl=x Passage No.1

Satellites orb*+* rouni the earth :nd they have provided
scientists with a vast amount of information nbout conditions in
outer space. By comparison, we know ralatively little about the
internal structure of the earth. It is evident that going up is
easier than going down. The deepest hole on land went down 25,340
feet - considerably less than the height of Mount Everest. Drilling
a hole under the sea has proved to be even more difficult. The
deepest hole under sea has been about 20,000 feet. Until recently,

scientists have been unable to devise a drill for cutting hard rock.

However, scientists have now solved this problem of how to
cut through hard rock at great depths. They have developed a me thod
and this method sounds surprisingly simple. They are testing a new
drill at Leona Valley Ranch in Texas and using turbine engine to
drive the drill. Then they pump liquid mud from the surface into
the turbine engine and this is the way they propel it. The drill
has a diamond tip and as the tip revolves, mud lubricates it.
This drill has amazed scientists because they find that it can cut
through the hardest rock with great ease. They have designed the
drill to bore through the earth to a depth of 35,000 feet. It will
enable scientists to obtain samples of the mysterious layer. This
layer lies immediately below the earth's crust. We know the layer
as the Mohorovicic Discontinuity, but commonly refer to it as
'the Moho'

Before it is possible to drill this deep hole, scientists will
have to overcome a number of problems. They will carry out geolo-
gical tests to find the thinnest point in the earth's crust. They
are considering the three possible sites at sea: two in the Atlantic
Ocean and one in the Pacific. Once they have determined on a site,
they will have to erect a drilling vessel and try to keep ocean

currents from sweeping this vessel away. The vessel will consist
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of an immeanse platform. The platform will rise to 70 feet =zbove

the water and six hollow columns will support it. The columns

will descend to 2 danth of €0 feet below the ocean surface and
scientists will fix them to a huge float. A tall steel tower rises

to a height of nearly 200 feet and will rest on the platform.
Scientists will store the drill in the tower and will have to lower

it through about 15,000 feet of water before operations can begin.
They also have to keep the platform in position at sea but this

will give further problems. To do this, scientists will have to
devise methods. These methods involve radar and underwater television.
Scientists will therefore have to take great care to keep the platform
steady and make it strong enough to withstand hurricanse. If the
project is successful, scientists will learn a great deal about the
earth. They will also possibly learn more about the nature of the

universe itself.

words =suN
syllables = 748
sentences = 32

words : sentence (sl) = 501 = 15.65
32

syllables: 100 words (wl) = 748 x 100 = 149.30

501
READING EASE = 206.8%5 ~ (81 x 1.015) = (wl x .846)

= 206.835 - (15.65 x 1.015)-(149.30 x .846)
= 206.8%5 - 15.88 - 126.30
= 6"".65

| -
DAL NUUAIT N TEAUNITRINTRY  Flesch = NTA 8-9 (standard)
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Form B

The Quostions Less-Complex Passage No.1
1. The new method has amazed scientists because of
a. the fact that going up is easier than going down.
b. the platform's being able to withstand hurricanes.
c. the difficulty of drilling a hole under the sea.
d. its capability as a new drill is greater than previous ones.
2. The platform is described as immense, which means:
a. violent
b. large
c. frequent
d. not safe
3, M".ieeeesse.. mud lubricates it." (line 14) The underlined word
refers to
a. the surface.
b, mud
¢, a turbine engine.
d. the diamond tip.
4., "To do this, scientists will have to" . . . (line 34)
The underlined words refer to
a. to begin the operation.
b. to keep the platform steady.
c. to give further problems.
d. to use radar and television.
5. The single most important reason for devising a new drill is probably
a. the hard rock at great depth.
b. the imaginativeness of scientists.
c. the thinnest point in the earth's crust.
d. the obtaining of unknown samples from the earth's crust.

"EEEERENEENE BN NRRE]
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Form A

Complex Passage 11,2

A thousand years before Christ, Rorie was merely a small Italian

trading post on the banks of the Tiber River. For a time it was

2
;uled by Etruscan kings who came down from the north. Soon, however,

: 2 ™
the merchants of Rome, who traded with the Greek cities in southern

Italy, as well as the towns to the north, began to resent the

dominat;on of kings. The merchants preferred to set up a city-state,
as the Greeks had done, goverged by a Senate of influential persons.

2
These persons were generally aristocrats who owned land, and they

D
were a%pointed to the Senate by two Consuls who were glected by the

citizens.

For a long time the common people, or plebeians, had little
money or power. At one point their discontent wasBShowed by leaving
Rome and setting down in another city. This incident frightened
the upper classes, or patricians, This was because they could not
get along without the plebeians. As a result the patricians gave
the plebeians some privileges, and the latter returned to Rome .
Little by little it became possible for plebeians to attain high

positions, even positions as high as Senator. Representatives of

1:.1'1@‘1 lebeians, ¢ liea tribunes, could veto the action of the Senate,

and even of the Consuls, if necessary.

That Romans had great respect1for the government and its officials

was a well-known fact. Some plebeian families rose to positions of

importance because of the great service their members h&d_done_ to

Rome. After a time, the Senate, maéEBuE of highly respected man,

became even more powerful than the Consuls, who could not make

decisgons without Senate approval.

There was, however, a large number of people who had no %ower

and no rights. They were the slaves, who were broughtzfrom conguered

territory, sometimes from very far away. They could be boéght and
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so%d, pun?shed or libe ; od at the will of the masters. As Rome

grew, the patriciars became ~icher and cften exploited or took

unfair advantage of the plebelans. Both groups exploited the slaves.

The expa%sion of Rome began by means of its taking possession

of land around the city of Rome. Sometimes colonies of Roman

citizens wereBSettled in this land. Other times the people

11v1%g4there wereﬁglven the privileges of citizenship in return for

their support. Thus, more and more people served in the Roman army,

s 2
which became strongér and more powerful.

In the third and fourth centuries before Christ, the Roman army

fought in a series of wars. At the end gf these wars, Rome had

become the most important city in Italy. Its only important rival,

at that point, was Carthage, across the Hedite%;gnean in northern

Africa.
adapted from Reading Drills

by Edward B. Fry

words = 448
syllables = 676
sentences = 24
words : sentence (sl) = 448 = 16,59
27
syllables : 100 words (wl) = 676 x 100 = 150.89
READING EASE - 206.835 - (81 x 1.015) - (wl x .846)

= 206.835 - (16.59 x 1.015)-(150.89 x .846)
= 206.835 - 16.83 - 127.65

= 62.35
«d - '
Dauunr NS AINTAMNYEY  Flesch = NTA 8-9 (standard)
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Roman set up a city-state zoverned by a Senate because

they wanted to trade with the Greeks.
they were tired cf the domination of kings.
they were tired of the domination of the CGreeks.

they wanted Rome to become a big trading post.

plebeians got more power because

they showed their discontent by leaving Rome.

they owned land.

they had friends in the Senate who gave them land.
they had money.

can infer from the passage that Rome became the most

city in Italy because of its

e
b.
Ce

d.

The
ae
b.
Ce

d.

The

ae
b.
Ca
d.

The

a.
be
Ce
d.

money
strong slaves.
military victories.

trade.

word "latter" (line 14) refers to
privileges

patricians

Romans

plebeians

word "rival" (line 37) means
having an association with
being an opponent of

being a friend to

having a working relationship with.

word "domination" (line 5) means
unkind consideration.

firm attitude

complete control

unfair wage system.

LU B I I I IR O

important
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Form L

Less=Complex Passage No.2

A thousznd ye-rs before Christ, Rouse was merely a small Italian
trading post on the banks of the Tiber River. Etruscan came down
from the north and ruled it for a time. The merchants in Rome
traded with the Greek Cities in southern Italy, as well as the towns
to the north. Soon, however when the kings dominated them, they
began to resent it. The merchants preferred to set up a city-state,
as the Greeks had done. They had a Senate of influential persons
to govern a city-state. These persons were generally aristrocrats
and they owned land. The citizens elected two Consuls. The Consuls

in turn appointed aristrocrats to the Senate.

For a long time the common people or plebeians had little
money or power. At one point they showed their discontent by
leaving Rome and setting down in another city. The incident
frightened the upper classes, Or patricianse This was because they
could not get along without the plabeians. As a result the
patricians gave the plebeians some privileges, and the latter
returned to Rome. Little by little it became possible for plebeians
to attain high positions, even positions as high as Senator.
Tribunes represented the plebeians. These representatives could

veto the action of the Senate, and even of the Consuls, if necessary.

It was a well-known fact that Romans had great respect for the
government and its officials. Some plebeian families rose to
important positions because their members had done great service
to Rome. Highly respected men made up the Senate. After a time,
the Senate became even more powerful than the Consuls. The Consuls

could not make decisions without their approval.

A large number of people in Rome, however, had no power and
no rights. They were the slaves. The masters brought them from

conquered territory, sometimes from very far away. The masters
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could buy, sell, punish or Jiberate the slaves at their will.
As Rome grew, the patricians became richer and often exploited or
took unfair zldvintcgs of the plebzisns. Both groups exploited the

slaves.

Rome expanded its land by taking possession of land around
the city of Rome. Sometimes Roman citizens settled their colonies
in this land. Other times, the government gave people in this area
the privileges of citizenship. The government did this in return
for their support. This, more and more people served in the Roman

army. The army became stronger and more powerful.

In the third and fourth centuries before Christ, the Roman
army fought in a series of wars. When these wars ended, Rome had
become the most important city in Italy. Its only important rival,
at that point, was Carthage. This city was across the Mediterranean

in northern Africa.

words = 450
syllables = 69k
sentences = 37
words ¢ sentence (sl) = 450 =  12.16
37
syllables : 100 words(wl) = = 154,22

694 ;0100

206.835 - (51 x 1.015) - (wl x .846)

= 206.835 - (12.16 x 1.015)-(154.22 x .846)
= 206,835 - 12.34 - 130.47

= 63.99

READING EASE

L]
< [
Dniiounr 9T sAUNATe IR Flesch =  Lagh 8-9  (standard)
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1.

5.

The
a.
b.
Ce

d.

The
a.
b.

Ce

d.

One
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Romans set up a city-state governed by a Senate because

they wanted to trade with the Greelis.
they were tired of the dominction of kings.
they were tired of the domination of the Greeks.

they wanted Rome to become a big trading post.

plebeians got more power because

they showed their discontent by leaving Rome.

they owned land.

they had friends in the Senate who gave them land.
they had money.

can infer from the passage that Rome became the most

city in Italy because of its

=P
b.
Ce

de

The
a.
b.
Ce

d.

The
a.
b.
Ce
de.

money.
strong slaves.
military victories.

trade.

word "latter" (line 14) refers to
privileges

patricians

Romans

Plebeians

word "rival" (line 37) means
having an association with.
being an opponent of

being a friend to

having a working relationship with.

word "dominated" (line 5) means
showed unkind consideration for
showed a firm attitude toward.
had complete control over.

laid unfair wage system on.

"TEEEE R R

important
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e

Complex Passage No.3

The process by which ngnomig-éeglth is_created is dgf;ned as

PRODUCTION. Production is gimed at ensuring that there are always
goods and services to preserve life on earth as well as to improve

the standard of living of the people.

The utilizing of the éifts of nature is made possible for us

because of production. A tree standiné-glone in the woods is Jjust

a tree and it has no practical use for us. By means of production

it is possible to turn it into something usef&l to us. The bark

.2
can be Zsed to make paper from which we can have newspapers, novels,

magazines and writing-pads. The trunk can bejmade into a raft for
transport down a dangerous river or the wood can be3made into

attraction and comfortable furniture to brighten the home.

Production may be a straightforward, uncomplicated system of
work as it was in prehistoric times. This is still the case today

in some primitive countries where villagers 1e§d a_simple life by

fishing, hunting or gathering wild fruits. Their own crops areBErown;

their own homes arejbuilt, their own clothes are3made, their own
children are3taught and their own forms of amusement g;eBQrovided.
Their wants are few and simple, and can be easily satiafied. These

people can beasaid to have a very simple economic system.

However, the more complex societies like ours become, the mgre

involved and complicated our economic system must be. The fact that

i i) . c y
the structure of our commerce and industry is not a simple one is

clearly seen. It comprises huge industrial organizations which

- . . ;
perform certain special tasks or services. Workers in a complex

society are specialists or people who are skilled in one %articulgg

task. They exehange their skill with other workers for the goods
made avaiiggle by others, and the specialized services of such people

as doctors, lawyers, interior decorators and entertainers. Our
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economic system makes % cat amount of work necessary. Factories
3 - s 2

turn out urcorntable housennld devices that Wwe neod, food to keep

us from ste:vation, asd machines to facilitate our daily work.

There are shops which séll the goods manufactured35§ the factories;

there are hospitals and clinics to provide us with medical facilities;
there are strong police forces to maintain law and order. If we

were to go on naming people who are directly or inéf?ectly concerned

with production, we would end up with a long list.

words = Lo7
syllables =// 625
sentences £ 22
words : sentence (s1) = 407 = 18.50
22
syllables : 100 words (wl) = 625 x 100 = 153.56
07
READING EASE = 206.835 - (81 x 1.015) - (wl x .846)
= 206.83%5 - (18.50 x 1.015)-(153.56 x ,846)
= 206,835 - 18.77 = 129.91
= 58.15

]
= [
LIALNELUANTNTEAUNATRUREY  Flesch = LNTA 10-12 (fairly difficult)
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Form A

" The Questions Complex Passaze No.3

can conclude f m Lli.: vassage that production

takes »lace only in wealthy countries.

takes place whenever we macde a simple object useful.
does not take place in very simple economic system.

does not include farming, hunting and fishing.

a primitive society

there is little production.
the people are prehistoric.
there are no teachers.

the people are not very intelligent.

kers in a complex society are different from villagers.
the writer's arguments, the most important difference is
Workers in villages fish and hunt.

Workers in a complex society have special task.

Workers in villages are easily satisfied.

Workers in a complex society work in factories.

words "turn out" (line 28-29) mean
manage

yield

produce

process

title that best sums up this passage would be
The Meaning of Society.

Production in Economics.

Making the Gifts of Nature Useful.

Why Complex Societies are Better than Primitive Ones.

TEEEEEREE RN
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Form B

Less-~omplex Passage No.>5

Production is a prouess and it creatles e-onomic wealth. The
aim of production is to encure that there are always goods and
gervices to preserve life on earth as well as to improve the

standard of living of the people.

Production makes it possible for us to utilize the gifts of
nature. A tree stands alone in the woods; it is just a tree. It
has no practical use for us, but we have means to turn it into
useful things; that means is production. We can use the bark of
a tree to make paper and from paper we can have newspapers, novels,
magazines and writing-pads. We can make a raft from the trunk for
transport down a dangerous river or we can make the wood into

attractive and comfortable furniture to brighten the home.

Production may be a straightforward, uncomplicated system of
work as it was in prehistoric times. This is still the case today
in some primitive countries. Villagers in these countries lead a
simple life by fishing, hunting or gathering wild fruits., They grow
their own crops; build their own homes, make their own clothes,
teach their own children and provide their own forms of amusement,
Their wants are few and simple and things can satisfy villagers

easily. We say these people have a very simple economic system.

However, when our societies become more complex, economic
system involves and complicates us more. We can clearly see that
the structure of our commerce and industry is not a simple one.

It comprises huge industrial organizations and these organizations
perform certain special tasks or services. Workers in a complex
society are specialists and they have skill in one particular task.
They exchange their skill with other workers for the goods, and the
specialized services of such people as doctors, lawyers, interior

decorators and entertainers. Our economic systems makes great amount
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of work necessary. "¢ neadé uncountable household devices, food to
kesp us from starvation, and machines to facilitate our daily work.
Factories czn turn out 21l of these things by manufacturing the
goods for shops to sell them. There are hospitals and clinics to
provide us with medical facilities; there are strong police forces
to maintain law and order. Production directly or indirectly
concerns people, so if we were to go on naming these people, we

would end up with a long list.

words = 396
syllables = 607
sentences = 25

words : sentence (sl) = 225 = 17.21
23

syllables : 100 words(wl) = 607 x 100 = 153,28

39
READING EASE = 206.835 = (81 x 1.015) = (wl x .846)

= 206.835 - (17.21 x 1.015)-(153.28 x .846)
= 206.835 - 17.46 = 129.67
= 59,70

i
D ReUnATNTEAUNATOMIDY  Flesch = INTA 10-12  (fairly difficult)
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Form A

The Questions Less-Complex Paczage No.3

1. One can cczclude from tlue passage that produc:ion

a. takes place only in wealthy countries.
b, takes place whenever we made a simple object useful.
c. does not take place in very simple economic system.

d. does not include farming, hunting and fishing.

2. In a primitive society

a. there is little production.
b. the people are prehistoric.
c. there are no teachers.

d. the people are not very intelligent.

3, Workers in a complex society are different from villagers.
In the writer's argument, the most important difference is
a. Workers in villages fish and hunt.
b. Workers in a complex society have special task.
¢. Workers in villages are easily satisfied.

d. Workers in complex society work in factories.

4, The words "turn out" (line 27) mean
a. manage
b. yield
c. produce

d. process

S. The title that best sums up this passage would be
a. The Meaning of Society.
b. Production in Economics.
c. Making the Gifts of Nature Useful.

d. Wny Complex Societies are Better than Primitive Ones.
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Form A

Complex Passage No.h

Two main techniques have been used for training elephants,

which wg may call respectively the tough and the gentle. The former

method simply consists of setting an elephant to work and beating
him until he does what is ezpected of him. Apart from any moral

considerations, this is a stupid method of training, for it produces

2
a stubborn animal who at a later stage may well turn into a man-

killer. More patience is réguired in the early stages of the gentle

method, but a cheerful, good-tempered elephant who will gige many

years of loyal service is préduced.

The first essential in elephant training is to give the animal

a single mahout who will be entirely réaponsible for the job.
Elephants like to have one master just as dogs do} their csapa-

. 1 :
bilities to.give personal affection are great. There are some

nhalf-trained elephant calves who have refﬁsed to feed and pined to

death when they have lost their own trainer. Such extreme cases
must not beBtaken too seriously, but they do remember the general

principle that the relationshipzbetween elephant and mahout is the

key to successful training.

The capture of an elephant for trainigg between fifteen and

twenty years of age is the most economical for man. The elephant

is then almost ready to undertake heavy work and can begin to earn
its keep. But animals of this age do not easily work for man, and
a very firm hand must be e%ploxed in the early stages. The captive

elephant, still fasteneé-éo a tree, jumps and screams every time a

man approaches, and for several days will probably refuse all food
through anger and fear. Sometimes a tame elephant isjtied nearby
to give the wild one confidence, and in most cases the captive
gradually quietens down and begins to accept its food. The next

stage is to get the elephant to the training establishment,
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g _difficvlt bEEfﬁgss which is achieved with the help of two tame
elenhapls tf2d to the captive on either side.

When several elephants are gpinQEtrained at one time, it is
customary for the new arrival to be Elaced between the stalls of

two captives whose t%aining is already well advanced. It is then

;ﬁgg completely alone with plenty of food and water so that it can
understand the atmosphere of its new home and see that nothing
particularly harmful is happening to its companions. When it is
eating normally, its own training begins. The trainer stands in
front of the elephant holding a long stick with a sharp metal point.

=l
Two assistants, mounted o% tame elephants, control the captive from

either side, while others rub their hands over his skin to the sound

of singing. This is gupposed to make pleasurable feelings in the

elephant. Its effects are rginforced by the use of sweet words,

such as 'ho! my son', or 'ho! my father', or 'my mother', according
to the age and sex of the captive. The elephant is not immediately
imgrgssed by soft and gentle speech, however, and usually make a
sudden movement fiercely with its trunk in all directions. These

movements are céntrolled by the trainer with the metal-pointed

stick, and the trunk finally becomes so sore that the elephant curles

it up and seldom afterwards uses it for offensive purposes.

adapted from Fluency in English
by L. G. Alexander

words = 555
syllables = 827
sentences = 23
words ! sentence (s1) = 555 = 24,13
23
syllables : 100 words (wl) = 8272 x 100 = 149
555
READING EASE = 206.835 - (51 x 1.015) - (wl x .846)

= 206.835 = (24,13 x 1.015)-(149 x .846)
= 206.835 - 2k.49 - 126.05

i = 56.29
) .
DR LNUUNITNTEAUNATAMIBY  Flesch = \NTA 10-12  (fairly difficult)
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Form A

The Question: Complsx Passage No. k4

1. The writer considers thc 'tough' method of training elephants to
be stupid
a. because it requires more patience.
b. in addition to being immoral.
c. since he expects too much from an elephant.

d. when he looks at it from a moral consideration.

2. According to the passage, some half-trained elephant calves died of
a. serious fear
b. serious anger
¢. longing for their masters.

d. 1longing for their parents.

3, The captive elephant becomes angry and afraid

a. when he is fastened to a tree.
b. until he is used to his master.
c. when he is taken away from all food.,

d. until a trainer uses a stick with a metal point on him.

4, The main advantage of training an elephant of between fifteen and
twenty years old is that it is almost ready to
a. take the responsibility
b. accept the mahout
c. work for man.

d. keep its temper.

5. The word "customary" (line 28) means
a. fashionable
b. regular
¢. traditional

d. common
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"a very firm hand must be employed in the early stages". (line 20)

means thet

Qe
b.

Ce

d.

the trainer has to use his hands to train an elephant.

the trainer has to employ assistants in elephant training.
the trainer must be responsible for finding employment for
elephants.

the trainer must be strict in the first stages of elephant

training.

This passage is mainly about

a.
b.
C.
d.

how to train wild clephants to work for man.
how to keep one's eyes upon the elephants.
how to make use of tame elephants in training wild ones.

how to apply two techniques in training elephants.

word "others" (line 35) refers to
captives

tame elephants

other assistants

its companions

RN R R RN
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Form B

Less-Complex Passage No.b-

People have used two main techniques for training elephants,
and we may call these techniques respectively: the tough and the
gentle. The former method simply consists of setting an elephant
to work and beating him until he does what we expect of him. Apart
from any moral considerations, this method is stupid for it produces
a stubborn animal, and the elephant at a later stage may well turn
into a man-killer. The gentle method requires more patience in
the early stages; however, it produces a cheerful, good-tempered

elephant. The elephant will give many years of loyal service.

The first essential in elephant training is to give the animal
a single mahout and the mahout will be entirely responsible for the
job. Elephants like to have one master just as dogs do, and are
capable of giving great personal affection. Some half-trained
elephant calves have refused to feed and pined to death when they
have lost their own trainer. Man must not take such extreme cases
too seriously, but should remember the general principle. The
principle is that the relationship between elephant and mahout is

the key to successful training.

Man captures an elephant for training when it reaches the most
economical age. It is between fifteen and twenty years, and the
elephant is then almost ready to undertake heavy work and can begin
to earn its keep. But animals of this age do not easily work for
man; therefore, man must employ a very firm hand in the early stages.
He fastens an elephant to a tree. The captive elephant jumps =and
screams every time a man approaches, and for several days will
probably refuse all food through anger and fear. Sometimes man
ties a tame elephant nearby to give the wild one confidence and in
most cases the captive gradually quietens down and begins to accept

its food. The next stage is to get the elephant to the training
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establishment. The man will tie two tame elephants to the captive

eléphant on either side in ordcr to achieve thie difficult business.

When man is training severzl elephants at one time, it is
customary for him to place the new arrival between the stalls of
two captives. These captives have already had well-advanced training.
Man then leave the captive elephant completely alone with plenty of
food and water so that it can understand the atmosphere of its new
home and see that a particularly harmful things are not happening
to its companions. When it is eating normally, its own training
begins. The trainer stands in front of the elephant holding a long
stick with a sharp metal point. Two assistants mount the tame
elephants and control the captive from either side, while others
rub their hands over the captive's skin to the sound of singing.
They do this in order to make pleasurable feelings in the elephant
and they reinforce its effects by the use of sweet words, such as
'ho! my son', or 'ho! my friend', or 'my mother', according to the
age and sex of the captive. Such soft and gentle speech does not
immediately impress the elephant, however, and it usually makes a
sudden movement fiercely with its trunk in all directions. The
trainer controls these movements with the metal-pointed stick, and
the trunk finally becomes so sore that the elephant curls it up and

seldom afterwards uses it for offensive purposes.

words = 570
syllables = 860
sentences = 27

words ¢ sentence (sl) = 570 = 21.11
27

syllables : 100 words (wl) = 860 x 100 = 150.87

570
READING EASE = 206.835 - (s1 x 1.015)-(wl x .846)

= 206.835 - (21.11 x 1.015)-(150.87 x .846)
) A 57.78
LA MUUAITINTSAUNITRAUDRY  Flesch = LNTH 10-12 (fairly difficult)
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Form B

The Questions Less-Complex Passage No.k4

1. The writer considers the 'tough' method of training elephants to
be stupid
a. because it requires more patience.
b. in addition to being immoral.
c. since he expects too much from an elephant.

d. when he looks at it from a moral consideration.

2. According to the passage, some half-trained elephant calves died of
a. serious fear
b. sSerious anger.
c. longing for their masters.

d. longing for their parents.

3, The captive elephant becomes angry and afraid
a. when he is fastened to a tree.
b. until he is used to his master.
c. when he is taken away from all food.

d. until a trainer uses a stick with a metal point on him.

4. The main advantage of training an elephant of between fifteen and
twenty years old is that it is almost ready to
a. take the responsibility.
b. accept the mahout.
c. work for man.

d. keep its temper.

5. The word "customary" (1ine 29) means
a. fashionable
b. regular
c. traditional

d. common
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"a very firm hand must be employed in the early stages" (line 20-21)

mean that

al
bl

c.

de

the trainer has to use his hands to train an elephant.

the trainer has to employ assistants in elephant training.
the trainer must be responsible for finding employment for
elephants.

the trainer must be strict in the first stages of elephant

training.

This passage is mainly about

ae
b.
Ce
d.

The
a.

be.

how to train wild elephants to work for man.
how to keep one's eyes upon the elephants.
how to make use of tame elephants in training wild ones.

how to apply two technigues in training elephants.

word "others" (line 37) refers to
captives

tame elephants

nther assistants

its companions
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Form A

Complex Passage No.5

. 1 " . :
The decision of some people to settle in a foreign country is

surely one of their most important decisions of a lifetime. If
this new homeland is ten thousand miles away; if the immigrant has
few or no friends and relatives there; if the language, customs,

and climate are completely strange, then the difficulty1!er $hem to

move can be undérstood. Yet every year finds thousands of Chinese

leaving Hoﬁéﬁon for Canada - some fo% the sake of their own advantage,

others in the hope of a better life. In the calendar year 1967,

some 6,300 persons left Hongkong and about 3,000 left other countries

in the Southeast Asia region.

Of course, an applican%'s desire to emigrate does not always
ensure that he will be 2ranted a visa by the Canadian Immigration
Office. Even though Canada is one of the easiest countries to enter,

certain requirements arejset for the applicant. If he has no

knowledge of English, no skills, no money, and no relatives in

Canada, then his chances are understandably small.

Applicants are cgnsidered by the Department of Immigration

under four categories. The largest is that of the sponsored
dependents, those persons lucky enough to have refa%ives to_sponsor

and support them there. They receive top priority and consideration,

as it is tgought the sponsors' right to bring dependents (for example,
parents over 60, children under 21) to Canada. Positive proof of
identity and good health are réquired basically for visas. It might

be goted that some persons' departures may be dglaxed for various
health reasons, but only few are absolutely rejgcted.

A new category is that of the nominated relatives; it includes
all relatives not in the first grouping (except cousins). Since no

right is reéognized here. These applicants are éxpected to meet
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slightly stricter reguirements, such as proof that they are capgble

of earning a living.

The next cziczory, that of %Eg independents, consistsza% those

who have no sponsors and indeed may have no friends at all in Canada.

Since there is no one to help them, they must meet the stiffest
requirements of all. Enough English must be gpoken to be able to
get along in Canada (the test is to be Undeéstood by the interviower

without an interpreter); job skills which Canadian emplgyers can use

must be ghowed. They should have some money SO that they will not

be helpless if employment and housing are not immediately foénd.

The last category is deglt with in Canadaj; it consists of those

who are already in the coantry and wish to stay permanently.

Students at the universities are the main members of this group.

adapted from Multiple Choice Questions

in English for Hong Kong
by Edward Adam and Gordon McArthur

words = 438
syllables = 697
sentences = D

words ¢ sentence (sl) = 438 = 19.04
23

syllables : 100 words (wl) = 697 x 100 = 159.13

43
READING EASE = 206.835 - (51 x 1.015) = (wl x .846)

= 206.835 - (19.04 x 1.015)-(159.13 x .846)
= 206.835 - 19.32 - 134.62
= 52-89

1

« o
DAl REUANTNTEAUNNTANRY  Flesch = (NTA 10-12 (fairly difficult)
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Form A

The Questions Complex Passage No.5

1, A wife applying to join her husband in Canada would be admitted seeeeeee
a. as a sponsored dependent.
b. as a sponsored relative.
¢. as an independent.

d. as a sSponsor.

2. A 60 year old man wishing to join his son in Canada would be treated as
a. an independent.
b. a nominated relative.
¢. a sponsored relative.

d. a refugee.

3, His acceptance as one of the above (in No.2) would also depend upon ===
a. his son's willingness to support him.
b. the amount of money he had.
¢c. his ability to speak English.

d. proof he could earn a living.

4., The word "ensure" (line 10) means
a. prove
b. make certain
c. reveal

d. believe

5, Priority is given to sponsored dependents because
a. they have no money-.
b. they can not earn their own living.
c. the relatives sponsoring them have a right to bring them in.
d. they can prove their good health and their ability to be

independent in Canada.

6. In paragraph 5 (line 3), a good synonym for the word "stiffest" is
a. weakest
b. poorest
c. strictest

d. fairest

'R E RN R A R B
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Form B

Less-Complex Passage No.5

Some people decide to settle in a foreign country. Their
decision is- surely one of their most important ones of a lifetime.
If this new homeland is ten thousand miles away; if the immigrant
has few or no friends and relatives there; if the language, customs,
and climate are completely strange, then it is difficult to move
and people can understand this. Yet every year we find that thousands
of Chinese leave Hongkong for Canada. Some do this for the sake of
their own advantage, but others do it in the hope of a better life.
In the calendar year 1967, some 6,300 persons left Hongkong and
about 3,000 left other countries in the Southeast Asia region.

Of course, when an applicant desires to emigrate his desire
does not always ensure that the Canadian Immigration Office will
grant him a visa. Even though Canada is one of the easiest countries
to enter, the Canadian government set certain requirements for the .
applicant. If he has no knowledge of Englisﬁ, no skills, no money,
and no relatives in Canada, then his chances are understandably

small.

The Department of Immigration considers applicants under four
categories. The largest category is that of the sponsored dependents.
These persons are lucky enough to have relatives to sponsor and
support them in Canada. They reeeive top priority and consideration,
as the government think it is the sponsors' right to bring dependents
(for example, parents over 60, children under 21) to Canada. The
basic requirements for visas are positive proof of identity and
good health. We might note that the government may delay some
persons' departures for various health reasons. But the government

absolutely reject only few people.

A new category is that of the nominated relatives; it includes

all relatives not in the first grouping (except cousins). Since
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the Canadian government will not recognize the applicants' rights,
they expecct these applicants o meet- slightly stricter requirements.
For example, applicants must prove that they are capable of earning

a living.

The next category is that of the independents. This category
consists of persons without sponsors. They indeed may have no
friends at all in Canada. Since there is no one to help them, they
must meet the strictest requirements of all. They must speak enough
English to be able to get along in Canada (the interviewer must be
able to understand the test without an interpreter); they must show
they have job skills and that Canadian employers can use them.

They should have some money 8O that they will not be helpless if
they do not immediately find employment and housing.

The Canadian government deals with the last category in Canada.
This category consists of people already in the country. They wish
to stay there permanently. Students at the universities are the

main members of this group.

words = L69
syllables = 760
sentences = 30
words : sentence (sl) = 469 = 15,63
: 20
syllables : 100 words (wl) = = 162,04

726
0 x9100

READING EASE 206.835 - (51 x 1.015) - (wl x .8L46)

= 206.835 - (15.63 x 1.015)-(162.04 x .846)

& 206.835 - 15.86 - 137.08
53.89

n

' ]
DnuunAr 19T EAUNTAUIRY  Flesch = LNTA 10-12  (fairly difficult)
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Form B
The Questions Less-Complex Passags 0029
1. A wife applying to join her husband in Canada would be admitted
a. as a sponsored dependent.
b. as a sponsored relative.
c. as an independent.
d. as a Sponsor.
5. A 60 year old man wishing to join his son in Canada would be treated as
a. an independent
b. a nominated relative
c. a sponsored relative
d. a refugee.
3, His acceptance as one of the above (in No.2) would also depend upon
a. his son's willingness to support him.
b. the amount of money he had.
¢. his ability to speak English.
d. proof he could earn a living.
4., The word "ensure" (line 11) means
a. prove
b. make certain
¢. reveal
d. believe
5. Priority is given to sponsored dependents because
a. they have no money.
b. they can not earn their own living.
¢. the relatives sponsoring them have a right to bring them in.
d. they can prove their good health and their ability to be
independent in Canada.
6. In paragraph 5 (line 3), a good synonym for the word "stiffest" is

a., weakest
b. poorest
c. strictest
d. fairest.

ssr s a s N BB B RE TN
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Re=ding Comprehension

Part I1 ¢ Cloze Test

Direction : The folluwing passage, taken from what you have
just read, has words omitted from it. You should
fill in each blank with only one word. Try to
fill in every blank. Guess if you cannot find
any word. You are to write the word that will
complete the passage on the answer sheet according
to the given number on the blank.

Example

Our holiday was very enjoyable., Our club went
(1) a picnics We went _(2) a beautiful park about _(3)
miles from the city, _(4) was very cool and _(5) in the
shade of _(6) trees. We spent the afternoon _(7) , talking,
and playing football.

The complete paragraph would be

Our holiday was very enjoyable. Our club went
on a picnic. We went to a beautiful park about ten miles
from the city. It was very cool and pleasant in the shade
of the trees. We spent the afternoon eating, talking, and
playing football.

On your answer sheet

1. on
2. to
3.  ten
b, It
5. pleasent
6. the

7 eating

LR B B I LA O B LB B B N



210

Form A

Comnlex Pr~~=agze No.1

Satellites orbiting round the earth have provided scientists
with a vast amount of information about conditions in outer space,
By comparison, relatively little is known about the internal
structure of the earth. The fact that going up is easier than going
down is evident. The deepest hole on land went down 25,340 feet-
considerably less (1) the height of Mount Everest. Drilling

(2) hole under the sea has proved __ (3) be even more
difficult. The deepest (4) under sea has been about 20,000
(5) . Until recently, scientists have been unable (6)

devise a drill for cutting hard (7) .

However, the problem of cutting through hard rock at great
depths has now been solved. Scientists have developed a method

which sounds surprisingly simple. A new drill which is being tested

at Leona Valley Ranch in Texas (8) driven by a turbine engine
which (9) propelled by liquid mud pumped into (10) from
the surface. As the diamond (11) of the drill revolves, it
is (12) by mud. Scientists have been amazed (13) find
that it can cut through (14) hardest rock with great ease.

The (15) has been designed to bore through (16) earth
to a depth of 35,000 (17) « It will enable scientists to
obtain (18) of the mysterious layer which lies (19)

below the earth's crust. This layer (20) known as the
Mohorovicic Discontinuity. It (21) commonly referred to

however, as 'the Moho'.

Before it is possible to drill this deep hole, scientists
will have to overcome a number of problems. Geological tests will
be carried out to find the point at which the earth's crust is
thinnest. The three possible sites which are being considered are
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all (22) sea: two in the Atlantic Ocean (23) one in the

Pacific. Once they (24) determined on a site, they will
(25) to erect a drilling vessel which (26) not be swept
away by ocean (27) . The vessel will consists of an (28)

platform which will rise to 70 (29) above the water. It will

be (30) by six hollow columns which will (31) to a depth

of 60 feet (32) the ocean surface where they will (33)

fixed to a huge float. A (34) steel tower rising to a height
(35) nearly 200 feet will rest on (36) platform. The

drill will be stored (37) the tower and will have to (38)

lowered through about 15,000 feet of (39) before operations

can begin. Their keeping  (40) the platform in position at sea
(41) also give further problems. To do (42) , scientists

will have to devise methods (43) the use of radar and underwater
(44) . Great care will therefore have to (45) taken to

keep the platform steady (46) make it strong enough to withstand
(47) . If the project is successful, scientists (48)

learn a great deal about the _ (49) . They will also possibly

learn more (50) the nature of the universe itself.
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Form B

Less-C:. vlex Passage No.1

Clu “‘_mat

Satellites orbit round the earth and they have provided
scientists with a vast amount of information about conditions in
outer space. By comparison, we know relatively little about the
internal structure of the earth. It is evident that going up is
easier than going down. The deepest hole on land went down 25,340
feet-considerably less (1) the height of Mount Everest.
Drilling (2) hole under the sea has proved (3) be even
more difficult. The deepest (4) under sea has been about
20,000 (5) . Until recently, scientists have been unable

(6) devise a drill for cutting hard (7) .

However, scientists have now solved this problem of how to
cut through hard rock at great depths. They have developed a
method and this method sounds surprisingly simple. They are testing
a new drill at Leona Valley Ranch in Texas and using turbine engine
to drive the drill. Then they pump liquid mud from (8)
surface into the turbine engine and (9) is the way they
propel it. (10) drill has a diamond tip and (11) the
tip revolves, mud lubricates it. (12) drill has amazed
scientists because they (13) that it can cut through the

(14) rock with great ease. They have (15) the drill

to bore through the (16) to a depth of 35,000 feet. (17)
will enable scientists of obtain samples (18) the mysterious
layer. This layer lies (19) below the earth's crust. We
know (20) layer as the Mohorovicic Discontinuity, but (21)
refer to it as 'the Moho'.

Before it is possible to drill this deep hole, scientists
will have to overcome a number of problems. They will carry put

geological tests to find the thinnest point in the earth's crust.
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They are considering the three possible sites __(22)  sea: two
in tne Atlantic Ocean (23) one in the Pacific. Once they

(24) determined on a site, they will (25) to erect a
drilling vessel and _ (26) to keep ocean currents from sweeping

(27) vessel away the vessel will consists (28) an
immense platform. The platform will (29) to 70 feet above
the water (30) six hollow columns will support it. (31)
columns will descend to a depth (32) 60 feet below the ocean
surface (33) scientists will fix them to a (34) float.
A tall steel tower rises (35) =2 height of nearly 200 feet

(36) will rest on the platform. Scientists (37) store
the drill in the tower (38) will have to lower it through

(39) 15,000 feet of water before operations (40) begin.
They also have to keep (41) platform in position at sea but

(42) will give further problems. To do (43) , scientists
will have to devise methods. _ (h4) methods involve radar and
underwater television. (45) will therefore have to take
great (L46) to keep the platform steady and make it strong
enough to withstand hurricanes. (47) the project is successful,
scientists will (48) a great deal about the earth. (49)
will also possibly learn more about (50) nature of the universe
itself.
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Form A

Complex Passage No.2

Cloze Test

A thousand years before Christ, Rome was merely a small

Italian trading post on the banks of the Tiber River. For a time
it was ruled by Etruscan king who came down from the north. Scon,
however, the merchants of Rome, who traded with the Greek cities
in southern Italy, as well as the towns to the north, began to
resent the domination (1) kings. The merchants preferred to
set (2) a city-state, as the Greeks (3) done, governed
by a Senate of (4) persons. These persons were generally
aristocrats (5) owned land, and they were appointed to

(6) Senate by two Consuls who were (?) by the citizens.

For a long time the common (8) , or plebeians, had
little money or (9) . At one point their discontent was

(10) by leaving Rome and setting down (11) another
city. This incident frightened the (12) classes, or

patricians. This was because (12) could not get along
without the (14) . As a result the patricians gave (15)
plebeians some privileges, and the latter (16) to Rome.
Little by little it (172) possible for plebeians to attain
high (18) _, even positions as high as Senator. (19)

of the plebeians, called tribunes, could (20) the action of
the Senate, and (21) of the Consuls, if necessary.
That Romans had great respect for (22) government

and its officials was a well-known fact. Some plebeian families
rose (23) positions of importance because of the (24)
service their members had done to Rome. (25) a time, the
Senate, made up (26) highly respected men, became even more

(27) than the Consuls, (28) could not (29)

decisions without Senate approval.
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There was, howaver, a large number (§O) people who
had no power and £254) rights. They were the slaves, who
(32) brought from conguered territory, sometimes from

(33) far away. They could be bought (34) sold, punished
or liberated at the (35) of the masters. As Rome grew,

(36) patricians became richer and often exploited (37)
took unfair advantage of the plebeians. Both groups exploited the

slaves.

The expansion of Rome began by means of its taking possession
of land around (2§) city of Rome. Sometimes colonies of Roman
(39) were settled in this land. Other (40) the people

living there were given (41) privileges of citizenship in
return for (42) support. Thus, more and more people (43)
in the Roman army, which became (44) and more powerful.

In the third and fourth centuries (45) Christs, the
Roman army fought in (46) series of wars. At the end (47)
these wars, Rome had become the (48) important city in Italy.

Its only (49) rival, at that point, was Carthage, (50)

the Mediterranean in northern Africa.
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Form B

T..ss Complex Passage No.2

Cloze Test

A thousand years before Christ, Rome was merely a small

Italian trading post on the banks of the Tiber River. Etruscan
came down from the north and ruled it for a time. The merchants
in Rome traded with the Greek Cities in southern Italy, as well as
the towns to the north. Soon, however when the kings dominated
them, they began (1) resent it. The merchants preferred to

(2) up a city-state, as the Greeks (3) done. They had
a Senate of (4) influential persons to govern a city-state.

(5) persons were generally aristrocrats and they (6)
land. The citizens elected two Consuls. (7) Consuls in

turn appointed aristrocrats to the Senate.

For a long time the common (8) or plebeians had
little money or (9) . At one point they showed their (10)
by leaving Rome and settling down (11) another city. The
incident frightened the (12) classes, or patricians, this
was because (13) could not get along without the (14) .
As a result the patricians gave (15) plebeians some privileges,
and the latter (16) to Rome. Little by little it (17)
possible for plebeians to attain high (18) , even positions
as high as Senator. Tribunes (19) the plebeians. These
representatives could veto (20) action of the Senate, and

even (21) the Consuls, if necessary.

It was a well-known fact that Romans (22) great respect
for the government and (23) officials, Some plebeian families
rose to (24) positions because their members and done (25)

service to Rome. Highly respected men (26) up the Senate.
After a time, (27) Senate became even more powerful than

(28) Consuls. The Consuls could not make (29) without

their approval.
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A large number of people in Rome, however, (30) no
power and no rightc ey o (31) the slaves. The masters
brought them (32) __ conquered territory, sometimes from very
far (33) . The masters could buy, sell, punish (34)
liberate the slaves at their will. (35) Rome grew, the
patricians became richer and (36) exploited or took unfair
advantage of (37) plebeians. Both groups exploited the

slaves.

Rome expanded its land by taking possession of land around
the city of Rome. Sometimes Roman (38) settled their colories
in this land. (39) times, the government gave people in

(40) area the privileges of citizenship. The (1) did
this in return for their (42) . Thus, more and more people
served (43) the Roman army. The army became (44) and
more powerful.

In the third and fourth centuries (45) Christ, the
Roman army fought in (46) series of wars. When these wars
(47) _, Rome had become the most important (48) in Italy.
Its only important rival, (49) that point, was Carthage.
This city (50) across the Mediterranean in Northern Africa.
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Form A

arpter Pacssage Vo.3

Clcze Test

The process by which economic wealth is created is defined
as PRODUCTION. Production is aimed (1) ensuring that there
are always goods (2) services to preserve life on earth

(3) well as to improve the standard (%) living of the
people.

The utilizing of the gifts of nature is made possible for

us because of production. A tree standing along in the woods is

(5) a tree and it has no (6) use for us. By means of

(7) it is possible to turn it (8) something useful to
us. The bark (9) be used to make paper from (10) we
can have newspapers, novels, magazines (11) writing-pads,
the trank can be (12) into a raft for transport down __ (13)
dangerous river or the wood can (14) made into attraction
and comfortable furniture (15) brighten the home.

Production may be a straightforward, uncomplicated system
of work as it was in prehistoric (16) . This is still the
case today (12) some primitive countries where villagers
lead (18) simple life by fishing, hunting or (19) wild

fruits. Their own crops are (20) __; their own homes are built,
their (21) clothes are made, their own children (22)

taught and their own forms of (22) are provided. Their wants
are few (24) simple, and can be easily satisfied. (25)

people can be said to have (26) very simple economic system.

However, the more complex societies like ours become, the
more involved and complicated (272) economic system must be.
The fact (28) the structure of our commerce and (29)
is not a simple one is (30) seen. It comprises huge industrial
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organi zation~ __ (31} rerforme certain special tasits or services,
(32) in a comp... socie y are specialists (33) people
who are skilled in one (34)  task. They exchange their skill
with (35) workers for the goods made available (36)
others, and the spocialiged services of (37) people as
doctors, lawyers, interior decorators (§§) entertainers.
Our economic system makes great (39) or work necessary.
Factories turn out (40) household devices that we need, food
(41) keep us from starvation, and machines (42)
facilitate our daily work. There are (43) which sell the
g ods manufactured by (44) factories; there are hospitals
aL: clinics (45) provide us with medical facilities; there
(46) strong police forces to maintain (47) and order.
If we were to (48) on naming people who are directly __ (49)
indirectly concerned with production, we would (50) up with
# long list.



220

Torm E
I:=--Csxplar Passage No.~
Cloze Test
Production is a process and it creates economic wealth.
The aim of production is (1) ensure that there are always
goods (2) services to preserve life on earth (3) well
as to improve the standard (4) living of the people.

Production makes it possible for us to utilize the gifts
of nature. A tree stands alone (5) the woods; it is just a
—.L(6) . It has no practical use for (7)), but we have
means to turn (8) into useful things; that means is 9 .

We can use the bark of (10) tree to make paper and from
(11) we can have newspapers, novels, magazines (12)

writing-pads. We can make a (13) from the trunk for transport
down (14) dangerous river or we can make (15) wood into
attractive and comfortable furniture (16) brighten the home.

Production may be a straightforward, uncomplicated system
of (17) as it was in prehistoric times. (18) is still
the case today in (19) primitive countries. Villagers in
these countries (20) a simple life by fishing, hunting

(21) gathering wild fruits. They grow their (22)
crops; build their own homes, make (23) own clothes, teach
their own children (24) provide their own forms of amusement.
(25) wants are few and simple and (26) can satisfy
villagers easily. We say (27) people have a very simple
economic system.

However, when our societies become more complex, economic
system involves and complicates us more. (28) can clearly
see that the structure (22) our commerce and industry is not

(30) simple one. It comprises huge industrial (31)
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and theue organizaticn: perform certain special (32) or
services. Workers in a compiex (33) are specialists and
they have skill (34) one particular task. They exchange
their (35) with other workers for the goods, (36) the
specialized services of such people (22) doctors, lawyers,
interior decorators and entertainers. (38) economic systems
makes great amount of (39) necessary. We need uncountable
household devices, (40) to keep us from starvation, and

(41) to facilitate our daily work. Factories (42)
turn out all of these things (43) manufacturing the goods
for shops to (44) them. There are hospitals and clinics

(45) provide us with medical facilities; there (L6)
strong police forces to maintain law (42) order. Production
directly or indirectly concerns (48) , 80 if we were to go

(49) naming these people, we would end (50) with a
long list.
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Form A

Complex Passage No.k4

Cloze Test

Two main techniques have been used for training elephants,
which we may call respectively the tough and the gentle. The former
method simply consists of setting an elephant to work and beating
him until he does what is expected of him. Apart from any moral
considerations, this is a stupid method of training, for it produces
a stubborn animal who at a later stage (1) well turn into a
man-killer. (2) patience is required in the early (3)
of the gentle method, but a (4) , good-tempered elephant who
will give (5) years of loyal service is produced.

The first essential in elephant training is to give the
animal a single mahout who will be entirely responsible for the
job. Elephants like to have one master just as dogs doj their capa-
bilities to give personal affection (6) great. There are
some half-trained (7) calves who have refused to feed
(8) pined to death when they have (9) their own trainer.

Such extreme cases (10) not be taken too seriously, but
(11) do remember the general principle that (12)

relationship between elephant and mahout is (13) key to

successful training.

The capture of an elephant for training between fifteen
and twenty years of age is the most economical for man. The
elephant is then almost ready to undertake heavy work and can begin
to earn its keep. But animals of this age do not easily (14)
for man, and a very firm (15) must be employed in the early
(16) . The captive elephant, still fastened to (17)
tree, jumps and screams every time (18) man approaches, and
for several days (19) probably refuse all food through anger
(20) fear. Sometimes a tame elephant is (21) nearby
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to wive the wild cne __ (22)  =nd in - =% cascs the captive

..2)___ quictens down and o.:.n8 “c zccept (24) food.

The next stage ie to ___ (25) _ the elcphent to the training
establishment, (26) difficult business which is achieved
with (27) help of two tame elephants tied (28) tihe
captive on either side.

When several elephants are being trained at one time, it

is customary for the new arrival to be placed between the stalls
of two captives whose training is already well-advanced. It is
then left completely alone with plenty of (29) and water so
that it can (30) the atmosphere of its new home (31)
cee that nothing particularly harmful is (32) to its
companions. When it ie (33) normally, its own training
begins. The (34) stands in front of the elephant (35)
a long stick with a sharp (36) point. Two assistants,
mounted on tame (37) 4 control the captive from either side,
___(38) others rub their hands over his (39) to the sound
of singing. This (40) supposed to make pleasurable feelings
in (41) elephant. Its effects are reinforced by (42)
use of sweet words, such as (43) my son', or 'ho! my father',

(44) 'my mother', according to the age (45) sex of the
captive. The clephant (46) not immediately impressed by
soft and (47) speech, however, and usually make a (48)
movement firercely with its trunk in (49) directions. These
movements are controlled by (50) trainer with the metal-pointed
stick, and the trunk finally becomes so sore that the elephant

curles it up and seldom afterwards uses it for offensive puUrposes.



People have used two main techniques for training elephants,
and we may call these techniques respectively: the tough and the
gentle. The former method simply consists of setting an elephant
to work and beating him until he does what we expect of him. Apart
from any moral considerations, this method is stupid for it produces
a stubborn animal and the elephant at a later stage (1) well
turn into a man-killer. (2) gentle method requires more
patience in (3) early stages; however it produces a ) .,
good-tempered elephant. The elephant will (5) many years of

lnyal service.

The first essential in elephant training is to give the
animal a single mahout and the mahout will be entirely responsible
for the job. Elephants like to have one master just as dogs do,
and are capable of giving (6) personal affection. Some half-
trained elephant (7) have refused to feed and pined (8)
death when they have lost their (9) trainer. Man must not
take such (10) cases too seriously, but should remember

(11) general principle. The principle is that (12)
relationship between elephant and mahout is (13) key to

successful training.

Man captures an elephant for training when it reaches the
most economical age. It is between fifteen and twenty years and
the elephant is then almost ready to undertake heavy work and can

begin to earn its keep. But animals of this age do not easily

work for man; therefore, man must employ a very (14) hand in
the early stages. He (15) an elephant to a tree. The _ (16)

elephant jumps and screams every time (12) man approaches,
and for several days (18) probably refuse all focd through
anger (19) fear. Sometimes man ties a tame (20) neaxby
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te give the wild one (21) and in wos* cases the caytive
22) quietens ¢ »» and bewins to accept (23) food.
The next ctage is to  (24) the elephant to the training

establishment. (25) man will tie two tame elepuart~ _(26)
the captive elephant on either side (27) order to achieve
this difficult besiness.

When man is training several elephants at one time, it is
customary for him to place the new arrival between the stalls of
two captives. The captives have already had well-advanced training.
Man then leaves the captive elephant completely alone with plenty

(28) food and water so that it (29) understand the
atmosphere of its new (30) and see that a particularly
hermful (31) are not happening to its companions. S§2)
it is eating normally, its own (33) begins. The trainer
stands in front (34) the elephant holding a long stick

(35) a sharp metal point. Two assistants (36) the
tame elephants and control the (32) from either side, while

others rub (38) hands over the captive's skin to (39)

sound of singing. They do this (40) order to make pleasurable
feelings in (41) elephant and they reinforce its effects
(42) the use of sweet words, such (43) " 'ho! my son',
or 'ho! my (44) or 'my mother', according to the (45)
and sex of the captive. Such (46) and gentle speech does

not immediately (47) the elephant, however, and it usually
(48) a sudden movement firercely with its (49) in all

directions. The trainer controls (50) movements with the

metal-pointed stick, and the trunk finally becomes so sore that

the elephant curls it up and seldom afterwards uses it for offensive

purposes.
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Form A

Complex Passage No.5

Cloze Test

The decision of some people to settle in a foreign country
is surely one of their most important decisions of a lifetime. If
this new homeland is ten thousand miles awayj if the immigrant has
few or no friends and relatives therej if the language, customs,
and climate are completely strange, then the difficulty for them to
move can be understood. Yet (1) year finds thousands of
Chinese leaving Hongkong (2) Canada-some for the sake of

(3) own advantage, others in the hope (4) a better
life. In the calendar (5) 1967, some 6,300 persons left
Hongkong (6) 3,000 1eft other countries in (7)

Southeast Asia region.

Of course, an applicant's desire to emigrate does not always
ensure (8) he will be granted a visa (9) the Canadian

Immigration Office. Even though Canada (10) one of the
easiest countries to (11) enter, certain requirements are
set for the (12) . If he has no knowledge of English,

(13) skills, no money, and no relatives (14) Canada,

then his chances are understandably (15)v .

Applicants are considered by the Department (16)
Immigration under four categories. The largest (172) that

of the sponsored dependents, those (18) lucky enough to have
relatives to (19) and support them there. They receive
(20) priority and consideration as it is (21) the
sponsors' right to bring dependents (22) example, parents
over 60, children under 21) (23) Canada. Positive proof of
identity and (24) health are required basieally for visas.
(25) might be noted that some persons' (26) may be

delayed for various health (27) , but only few are absolutely

rejected.
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A new category is that of the nominated relatives; (28)
jrel:des all reiantl.cs not in the (29) grouping (except
coucins,)s, Since mo right (30) recogrized here, these
applicants are expected (31) meet slightly stricter require-
ments, such as (32) that they are capable of earning

(33) living.

The next category, that of the independents, (34)
of those who have no sSponsors (35) indeed may have no
friends at (36) in Canada. Since there is no (37) to
help them, they must meet (38) stiffest requirements of all.
Enough English (39) be spoken to be able to (40) along
in Canada (the test is (41) be understood by the interviewer
without (42) interpreter); job skills which Canadian
employers (43) use must be showed. They should (4h)
some money so that they will (45) be helpless if employment
and housing (46) not immediately found.

The last category is dealt with (47) Canadaj it
consists of those who (48) already in the country and wish
(49) stay permanently. Students at the universities
(50) the main members of this group.
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Form B

sos=armions ¢ cassaxge No.S

Cloze Test

Some people decide to settle in a foreign country. Their
decision is surely one of their most important ones of a lifetime.
It this new homeland is ten thousand miles away; if the immigrant
has few or no friends and relatives therej if the language, custonms,
and climate are completely strange, then it is difficult to move
and people can understand this. Yet every year we find that
thousands (1) Chinese leave Hongkong for Canada. Some

(2) this for the sake of their (3) advantage, but
others do it in (4) hope of a better life. In (5)
calendar year 1967, some 6,300 persons (6) Hongkong and
about 3,000 left other (7) in the Southeast Asia region.

Of course, when an applicant desires to emigrate, his
desire does not always ensure (8) the Canadian Immigration
Office will grant (9) a visa. BEven though Canada is

(10) of the easiest countries to enter, (11) Canadian
government set certain reguirements for (12) applicant. If
he has no knowledge (13) English, no skills, no money, and

(14) relatives in Canada, then his chances (15)

understandably small.

The Department of Immigration considers applicants under
four categories. The largest category (16) that of the
sponsored dependents. These (17) are lucky enough to have
relatives (18) sponsor and support them in Canada. (19)

receive top priority and consideration, as (20) government
think it is the sponsors' (21) to bring dependents (for
example, parents (22) 60, children under 21) to Canada.

(23) basic requirements for visas are positive (24)
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o7 identity and good he=lth. Y%e (25) note that the government
may delay (26)  ~ersous’ ccpartures for various health reasonms.

(27) the government absolutely reject only few people.

A new category is that of the nominated relatives; it
includes all relatives (28) in the first grouping (except
cousins). (29) the Canadian government will not recognize

(30) applicants' rights, they expect these applicants
(31) meet slightly stricter requirements. For example,
(32) must prove that they are capable (33) earning a

living.

The next category is that of the independents. This
category consists (34) persons without sponsors. They indeed
may (35) __, they must mect the strictest requirements (38)
all. They must speak enough English (39) be able to get
along in Canada (__ (40) interviewer mﬁst be able to understand

(41) test without an interpreter); they must (42)
they have job skills and that Canadian (42) can use them.
They should have (4k4) money so that they will not (45)
helpless if they do not immediately (46) employment and
housing.

The Canadian government deals with the last category in
Canada. (47) category consists of people already in __(48)
country. They wish to stay there (49) . Students at the
universities are the (50) members of this group.
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apuuan n.

ATt 4 Yun

4
ﬂr.Tunmquwnun~tﬁuu1uﬁqnﬂ: wﬂqu aquuqnunv-uTaTQﬁrﬁqmﬂau
a
wumauuﬁnuwunQﬂTﬁrqﬁrﬁQﬂugﬁunﬂr NOUMY noun phrase WAz verb

phrase fatin ﬂr~Tﬂhnujquuaﬁuﬂr-Tuatuauﬂuﬂrqunutnﬂtwaﬁrﬁaﬂr-TUﬁTuu

) v

uihmauEQﬁu trundﬁ UrluplFqrTn (transform) ﬂr.TuamLﬂnuuuﬂvqn
]

A" A’v ! ﬂ -
yr 2 uavugmidauuenaniiu 2 ngu Ao

'l d U8 & o - !
1e nqumLﬂﬁnuaﬁnu311uﬂr=1unuugﬁuﬂrzTuntnuq (Tunan Urzlun
]
ﬂTﬁTIﬂjﬂulﬂﬂﬁ (a signle base derived string) Loy

T - yes/no uuqunaqrtﬂauuﬂ:~Tunwu3quLﬂuﬂr~TUﬂn1mﬁnﬁa
1

» v
- d
nadlumanauill yes ~Wia no T (4aW19IN Transform) = Urzlun

Utarrn
P vy

2. nqnwﬂBQWﬁnr~uqunﬁrr1nﬂ1.TUﬁwu5quua1u P prapareet 3

'
Fuma UrslualTaraia us il (multiple-base derived strings)

B-&’v - & o4
TunrAnEARTal LuUMMTANEINTTUTATIA 4 9Un AB nominalization,

afad
relative clauses, passive voice U&aS grammatical deletion  WUNB
t i

J v = - = E -
MTAMWLTDANLANLY  FI922DNANIINNTUTATTAUS & JUR Tandat o
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keiative Ciavses

] ]
The relative cluuse sentence AAAHLITANUANLE T9iTulTzaAY
w E (]
g0y the main sentence fAUU A relative clause frels sl uAunTn

1 [}
P
(embedded sentence) wﬂhaﬁTuuﬁud% (noun phrase)

NP

NP =3 NP + S w1e //,/”A\\\\\\

NP S

[ =] -
unEAdanny relative clauses N 2 9Un AD  restrictive

v v i
=]
IlAY nonrestrictive, Restrictive clause ﬁ?ﬂi%ﬁ?ﬁﬂﬂ?:iﬂh%ﬁuﬂrn
]

! dJ o A 4' . A ﬂ
nguuﬁuﬁﬂﬁﬂT:ﬂﬂﬂﬂdﬂuﬁﬂﬁﬂﬂﬂﬂu“ui 491 nonrestrictive clause (UU
=5 “!4 ¥ - = ~ )
ﬂgﬂ!:Tﬂﬁﬂﬂ?:ﬂlﬁﬂulﬁﬁﬂuu1uﬁﬁiﬂﬂ non-restrictive clause transforma=-

tion 1

»
- =
diagram 983 non-restrictive relative clause 9=Lﬂuﬂﬁu

S
NP S VP

Roderick A. Jacobs and Peter S. Rosenbaum, English Trans-
formational Grammar (Massachusetts: Blaisdell Publishing Company,

1968), pp. 160-161.
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1
ﬁaﬂﬁﬂq relative clzauses

The storm which battered Vietnum is now here.

The book that he is reading is very interesting.

The girl whom you met last week won the race.

The man who rescued David is a writer.

Uszlun The house which stood near the river was falling apart.

' ] v
w &

5 l -
Y1ATIATINEIUANATAY ) AN

NP

NP Relative Clause
Sent?nce
/
Det N NP
|
Art D? t N
| |
the house Art was falling apart

the house stood near the river
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4 ; o
U|;”J.:Tdnnt4nu relativs pronoun "which" UAUNUWN noun
A &
phrase g9ldulsssueaalrelusiarn 17091 Relativizing nniTarre
1 v 1 ] v ]

. J y
TWAMUAT  relativizing naumvzlelaredraagauty Ao

The house which stood near the river was falling apart.

]
L?Hﬂ?ﬁ the relative clause transformation

v | [}

T-relative clause WAMUAWLUAUU embedded sentence ulu

‘v

v oot " v w
dependent construction (Insearnviiugnarnaylaniuaaia)  wnmal

v

= - W
dr=luandh (matrix)  9emeaANIalulaututulszlun embedded WAz

v I v [ |

I
. ~ 2 = o -
T-relative clause YIWUIMMETAY relative pronoun %Qwﬁﬂﬁqﬁag 4 n7

P

‘J ﬂ ) vv
%2 who (NaudunsTy AR whom 1ﬁﬂﬁqﬁhﬁ

£ vu ﬂiJ 4
which lefiuiusanuaniwiasanau

vv = 3 3 “§ 3 - v -
taz that  lofiuamgale 9 nln  (Dauuanestionly who  fiuAuuANNYY)

] © v s ¥
I that uuﬁuquTu restrictive clause IMUU

v

] 13 ] v
ﬂﬂiﬁﬂlﬂﬂﬁaﬂﬂﬁdﬂﬁTﬂTﬁQ T-relative clause AUATY relative
]

pronouns ﬁﬁﬂﬂﬂq 1

(whom)

ﬂ::Tﬂhﬁﬁh (Matrix) ¢ The girl won the race.

Urzlupunsn (Embedded): You met a _girl last week.

Deep Structure : The girl you met a_girl last week won the race.
T - rel : The girl a girl you met last week won the race.

T - pro ¢ The girl whom you met last week won the race.
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(wriza,

Jrsluawan  (Matrix) ¢ I like tie horse.

Uszlupunsn (Embedded): Jane gave me a horse.

-

Deep Structure I like the horse Jane gave me a horse.

T - rel

I like the horse a horse Jane gave me.

T - pro I like the horse which Jane gave me.

(that)

dszluavan  (Matrix) The baby cried.

Ui luauurn (Embedded)

The senator kissed the baby.
Deep Structure : The baby the senator kissed the baby cried.

T - rel The baby the baby the senator kissed cried.

.

T - pro The baby that the senator kissed cried.

v v |

0 relative pronoun YISy, snoun phrase 3
ATy 91992Q¥  pronoun 1;1; TndT; relative pronoun deletion
transformation LéuﬂszTun;a1ﬁ5§:1;ﬁuuﬂr:Tun;ﬁquuig ol

The girl you met last weeck won the race.

I like the horse Jane gave me.

The baby the senator kissed cried.

[ ] 1 J v | A 1 o =
arlunsdd  Ne nﬁhuuﬁitﬂuﬂrznﬁumaqﬂrziUﬂumrntﬂuhuuraaqLnuqnu

< e v ] - . -
% NP garslumwdnlulazadraediuan 92U relative pronoun deletion

v 1 v
transformation uﬂ1m1n1n
\ 1

AL LEY
Matrix : The man became a general.
Embedded : The man had fought for the city.
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_ " . wman wao hac Tougn: for the city uecame a general.,

*
The man had foug-i iour the city became a general.

(ungrammatical sentence)

17

1 noun phrase Tuﬂr:Tunumrn (embedded) tﬂunrrnmaq
preposition 9199¢@r preposition 1';1; (uéw:u’wtﬂ:uﬁﬁ'v that 1111;)
L;uTuﬂrzTnﬁ;a1ﬂﬁ
Matrix ¢ The teacher gave him the picture.

Embedded: He spoke to the teacher.

= The teacher whom he spoke to gave him the picture.

4

UTa The teacher to whom he spoke gave him the picture.

t
o e El
relative clause INANLUZWLY PB  relative adverb L7

He lived in Chiangmai where he was born.

v
qujﬁuz%lﬂu relative adverb ﬁ% when Tmumu adverbial of time

v
Waz where Tmuwu adverbial of place

Wuuqqn:ﬁnﬂrﬂ?qrrnit?un;w the relative 'be" deletion
transformation ?zﬂﬂuﬂrﬂuﬁuﬁqghhﬁ?aaz relative pronoun "who'',
Wghich", W@ "that" War "tense + be" 1n

ﬁhﬂéqqléu

1. The book which is on the table is very interesting.

The book on the table is very interesting.

2. The house that is by the stream belongs to me.

The house by the stream belongs to me.

3, My mother-in-law who is a nurse, likes roses.

My mother-in-law, a nurse, likes roses.
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i 1
ar -
Glai

9 « .
() cqLutrlTz tam o LTHOIY  non-restrictive clause

- o e 414 .v. ¢ ) I
NTUTAT TADNANEUSWL 41 nﬁrunuhﬂqmﬂﬁw (adjective) u7BY

v v v |1
=

AAUNUATRIAUIY Hﬁ:ﬂﬁ“uﬂ“ﬁﬂﬂﬂuﬂﬁqu main noun phrase ﬁﬂqﬂtﬁTUﬁlu

1
ﬁﬂiﬁga l?ﬂﬂ?ﬁ noun-modifier transformation (NM) 1

X+ N4+ N+ Y —= X+ NM+ N + Y

%)) Deep structure : The car the car is old drives well.
T - rel : The car the car is old drives well.
T - pro : The car that is old drives well.
T - rel Del : The car old drives well,
T - NM t The old car drives well.

The Pasgsive Transformation

] ] v
< .
T - passive Wt mriFarrmniyauularearaarzlunanssnaem
15
(agtive voice) (DULATIETAINTTUAN — (passive voice)

] ]
B9t 4Y

Active H Jane killed a snake.

Passive @ A snake was killed by Jane.

Active : Jack had painted the wall.

Passive : The wall had been painted by Jack.

Active : The detective is watching the house.

Passive : The house is being watched by the detective.

1 Bruce L. Liles, An Introductory Transformational Grammar

(New Jersey: Prentice-Hall, 1971), pp. 97-100.
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174

e . B e
T-passive  L@75iU1U AN

7 1
1. 290778 (Object NB)  waaniur V.,  lalumumuarzsau
v > &
2. Wlrzou (Subject NP)  uAanalawdentualugruziduns suges
L ] v
P
yrmm  (preposition) by WLAU LTI

d o ! LTI
3, LHUNTUN9EIY  (possive auxiliary) be + en Lﬂﬁ1ﬂ1ﬂﬂ?ﬂ1?ﬁ

v
|

v
ﬂﬂuﬂrntgnulﬂu§n11ﬂ 4

NP1+Aux+V+NP2$ NP2+Rux+be+en+V+by+NP1

]
f19UN9  Active : Jane killed a snake.

»
o
Ur:lupllATedTI9 = N, + tense + V. + Det + N

1 t 2

n

[{]

Jane past kill a snake.

] 4 v v
awamuidulrzlun  passive voice  navlang
T-passive : N, + past + V. + Det + Nzﬁ Det + N, + past + be

+en+Vt+(by+N1)

J ] ] ] v : 17 .
aununigesdnma 4 lularearaais: lasanauaanuaidu

A + snake + past + be + en + kill + by + Jane.

1 v ! v
waziialongreemeralady  (T-affix)  iWarauntMudnale Ty e LI

1] 74
v |
347z (free morpheme) AIMULANINIIMTLUIQNAT

/“"\N /'- -“\_i
T-affix ;:%} A + snake + past + be + -en + kill + by + Jane.
I

v v
ﬁa:‘lnﬂrﬂuaﬁwmmnuuﬂu passive sentence 1IN

A snake was killed by Jane.
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v

A . .
uﬁ?nTﬂTﬂﬁiﬂﬁfuﬂqﬁnugﬂ tree diagram fuuUng

/\
NP VP
. Au/\uv
tense vb trans
v NP
,///"\\\
ey
Det N
Jane past kill a snake

v i

v v L3
Wad9nle  passive tranformation 9zlalATedsavd@Iuty Al

S
/\
NP vp
nef////\\\\m Aui”/’/’/”ﬁhhhﬁhhhﬂmiw
tense be Part Vb trans
,f””/’fﬁhhhhh““nh
'} Prep Nr
p(op N
A snake past be -en kill by Jane

v »
TnﬁTﬁnﬂ morphophonemic rules v=1nﬂ1£Tua A snake was killed by Jane.



2k

v | v
-

1
Tulrzlon active wrairzlum  wwaand Ay lounns ruuTaganns :vin
L I I ] ] ]
st lololren aalwwrwanidular  (ewaouidulrzlon passive
v v v !
ua1  amezazirzanluwslvasiarralalaleulugy dunaumanseslr=Tun

; - . q:‘ v
umlrznarla  LTun passive  ¢lANAY agentless passives Waz9zlang

1

Agent Deletion Tu T-passive

fptvLTY
Active : Someone took Jerry to the hospital.
Passive : Jerry was taken to the hospital (by somcone)

1 1 1 v | v
WuqunfﬁnﬁuﬁﬂréTunw:tﬂ%uuuﬁtﬂuThraﬁrﬁqaquiuunugﬂ pasaive
] ]

J & v o
21992007 Ll duuwlasils slupugaunatuaunay ey LY

Urslum  What was written? (Wnurla e
Active ¢ One wrote something.

T-passive : Something was written (by one).
T-yes/no : Was something written?

T=-wh : What was written?

CoA 4' v = - %
Nominalization NATUTATTALWAETAYUANIA MUILDY FUAUNATLYAUY

1 ] |}

1 v 1

v 4-1 & . = e, 5
99ANNLANBUZAGIYT £ 1 HALAVAMUAN L TULABATURAUAN WTRAYET THUAN TauaY

' ” 1 v
Tur1onlugdnaunie  Tuiduuwad (noun phrase)

] v ] 1 1
Nominalization (Uawularearaeduandeiiulrslen 19y
v
o
The old man collapsed. IMUUNAIA  the old man's collapse

1 s ]
A
gt idurse el lun Loy

1 ¢, L. Baker, Introduction to Generative-Iransformational

Syntax (New Jersey: Prentice-Hall, 1978), p. 107.



e

2hks

The old man's col’ . »3e horrified us.1
‘qaf N il
217 U od (R. B. Lees, lAUWUN nominalization transformations

gantdu 5 uuy e (1) Pactive Nomimal (2) Action Nominal (3) Agentive

Nominal (4) Gerundive Nominal Wa® (5) Infinitival Nominal °

i
1. Factive Nominals  X#algou Po that wuaraufilrslunidu

] v | ]
. A Ad o 4
that + sentence Fewamumiluyrzaquntansrugalrzlun  u1aMNAa L3Ry
1] 1 v ]
auTAa Ut L9 "what" when" 'where" U8 "why" 7

AU

That she is lovely seems obvious.

John believed that she would marry him.

44 4
That she is lovely seems obvious. uﬂuﬂ?ﬁﬁﬂTzTUh 2 ﬂI:TﬂH PR
Matrix : Something seems obvious.

Embedded : She is lovely.

Roderick A. Jacobs and Peter S. Rosenbaum, English

Transformational Grammar (Massachusetts: A Division of Ginn and

Company, 1968), p. 53.

2 Owen Thomas, Transformational Grammar and the Teacher of

English (New York: Holt, Rinehart and Winston, 1965), pp. 106-113.

4 L
7 qlr wowweeiedy, mawmammawiltlularedraeniuadengs  (ngaLm-

4 =Y Y o - ¥
UMAUAT S UWANUGUATUATUNTALTE, 2519), WuA 53.



246

4

! &! = < ~ v
NIASATTAL 2 AMmAN  To (1) LaunaTiNN  fhat  wuA embedded
o & - x
sentence War (2) ANNTDAT pronoun Ty matrix LT
Something (She is lovely) seems obvious.
T-nom ————>  Something (That she is lovely) seems obvious.

t-nom : That she is lovely seems obvious.
v o a P v v 1 v > vi
mﬂvztruuLruoﬂrzTuhLﬁﬁ?ﬂﬂTﬂgtmﬂT?Qﬁuﬁu na191avulern
It seems obvious that she is lovely.
4 < » &
Tﬂﬂ?=1ﬂﬁfﬁiﬁﬁﬂujﬁutﬂu It seems obvious.

]
MDY Factive Nominal

Subject That-Clause

That he saw us was obvious.

That he left home because of his mother is a well-known fact.

Subject Question-Word Clause

What he did was obvious.

Where he went was a surprise.
v

t v
- -~
2. Infinitival Nominal  MosRAIMMNANBUzAa uUrzlun  1aull
1§

n?UﬂLﬂugﬂ infinitive  MIAIDHAY

For him to say that is unbelievable.

L7

»
MTETAY  infinitival nNO9RARAY complementizer for... to

v v

i v
Taaellu  ombedded sentence 10Ul "for" 9WWUA subject War
v

v

v
"to" PN verb AIFEUARIIAIIN deep structure tree
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Aux A
Art NP VP
Déi///\\\\N Aux V tense
Art tense
the opportunity the boy past eat past arrive

v v

]
L%ﬂTﬁ complementizer "for ... to" uaa?:Tn surface

structure tree lﬂu

S
NP VP
/\
N

Det N S Aux \'}
Art NP VP

Drt N Aux v tense

Art

/

the opportunity for tLe boys to past eat past arrive
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v

v v v
€ gl L
UANTINY -9 Tor.s. to" Wan ﬂ?:1hﬂ:&iﬂﬂ§ﬂ“ﬂﬂlau

The opportunity for vne boys to eat arrived.

3
14  infinitival nominal AB "for the boys to eat"
. Y4 < ¥
WAWUMIUY  The opportunity Tarduls zenu gﬂﬂrzTUﬁﬁugﬂu na
The opportunity arrived.
1 v |

froune  Infinitival Nominal  leun

For him to say that is unbelievable.

For Mary to make a mistake is unusual.

v
. a .
3, Action Nominals samruwlaairslupuurnluiduung uas

dg . v 4 t o v
vt sy abstract nouns 1M Ianuwlay Al
5 &€ .
(1) fin  Auxiliary verdb  Mavunus Ll
v v
(2) uﬂaeﬁ%ﬂt:ﬂwﬁTutﬂugﬂ possessive ﬁ?auwuﬂr:nﬁunqn
" .Y v
determiner WAWATOMAWUA abstract noun 1M
{23 1 %
(3) M -ing L1 ldwanAanTun
] 174 v
(4) wlay adverb ﬁﬁnqu verb 1n1ﬂu adjective uan
v v | T 7
g1y adjective ﬁ1ﬂ17uuq V-ing
v {74
LT
(5) ol lunihummintuaidulrsian  transitive verb i
& v 1 . i
S of  13alirzwane  Nominal My lwuuar object
& dq I¥ v ' !
(6) FngTTmMINW luTIanIznaManLean  Lgu  someone, he,
v
it dunu
. U 4
Franregaareluanudadiiy  Action Nominal
Urzlun : John drew the picture rapidly.

Action Nominal : John's rapid drawing of the picture . . »

(L]

Urelun The committee objects to John.

The committee's objection to John . . .

Action Nominal
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" z 5 . = = : v‘ﬂl !
L, Apgentiv- Ncainals NTUT 27T A L g aun agents
< LA . —— T e
WNIZNINTEY  agentive nominoly %qag1u{ﬂﬂaq count nouns 9HN"T

I v
L] "
WanuwaeraLfu of  1971U07EWININTTUIRY  a transformed transitive

| S

verb Uazlfil =-er |gway base form gpypINTH

]
PR URE ﬂr:TUﬁ John is a singer of songs. N

Matrix : John is someone.
Embedded : Someone sings songs.

John is someone (someone sings songs).
John is a singer of songs.

L v 1

NIDUINDY 9 1ﬂun George is the admirer of Jane.

Gerry is the speaker for the group.

t
5. Gerundive Nominals UANNIN9IN regular gerunds U@L

action nominals ﬁﬁu
4w

5 a (dlq 1 v
a. anﬂqtﬂﬂmmn;ﬂLﬂuqmﬁ%u DUUUY gerundive nominals Tuln

1 %

4 d -
b, 1U913ounas iy gerundive nominals U9 UIAY

1 I v
NTU1998  perfect tense (Ll9U NTU1  to have) 12

v P ‘vl =
c.  B199zaununtuad L Asalan laneuruntur luds slupunsn

| Y v

d. genetive naguuﬁ nominal uuuﬁnqu determiner
[
me
[5Y - o
o nTUﬁﬂnﬂqaﬁuﬁtnuﬂaatﬂu gerundive nominal 1f

ALY John's having sung well in many concerts is

evidence of his ability.

His having sung surprises me.

Talking to yourself accassionally is not unusual.



250

Crammaticsl Deletion

G
Grammatical Deletion n1rﬁhwau Hﬂ1ﬂ%¢ﬁﬂ1ﬂﬂﬁ73ﬂurﬁﬂﬂ

1 ] v ]
(delete) dqulsznay  (elements) uAIAUTRI]ATIATA9UTE] UANEWATD

v v v
1
t91191ln (recoverable) uranqrnﬂaaunﬁﬁnu (repeated element) waly

mqnﬂrnﬂaQﬁaqaquﬂr-ﬂﬁnnonaﬁqunuanuﬁTuLnﬁthqqnunqumaqﬁqunaﬂ1ﬂ

Grammatical Deletion W@ UTLA  $A8H14LTY

1. identical verb phrase deletion transformation
1 v ] 1

]
- < [ ~
RaTUUMTAR VP favdediiwoutudaursiely  freungiay
Urzlun David argues because his parents expect him to argue.
]
e
wWasuidy  Dpavig argues because his parents expect him to.

Urzlun Jane can play the harp and Susan can play the harp, too.

1
lﬂ%ﬂutﬂu Jane can play the harp and Susan can, too.

= -
2. the "It" deletion transformation ARNUYUNITANAT TWUY

I v

"it" tnﬁTﬂnnwu%nqarruuﬁnuﬂ:wngaguun noun phrase complement

TuTﬁrqu:qqaquﬁn

ﬂﬁﬂﬂﬂﬁ

Urzlun Carlo argues that Columbus discovered America.

U790 deep structure ¢ Carlo argues it that Columbus discovered

America.
It deletion transformation : Carlo argues that Columbus discovered

America.

§ 114 annu "nﬁrﬁnuquanaqnﬁrﬂrqr:nTuﬂr-Tuanqﬂﬁaqnnuuuﬂa

4
nﬁfﬂﬁULﬂﬁﬂiﬂuLﬁﬂq?ﬂaiuﬁﬂﬁﬁﬁlﬂﬂﬂﬁﬁﬁﬂqnqu UMIMEVAUATUATUNT | T2 wumTan "

v

I 201.
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3, the identical noun phrase deletion transformation

= o A -ﬂddl d‘
RasuUM TiinuT oazunt AN ul rsamra =l upNuATEAY (complement

sentence)
] ]

LU T
ﬂr:Tuh ¢ We asked John to open the package.
11919n deep structure : We asked John John opened the package.
|1 = ) dv:
UNDUIBINTUTATIA U
T-inf : We asked John for John to open the package.

Identical NP Deletion: We asked John to open the package.

ke the relative pronoun deletion transformation
;aﬁuquﬁq:ﬁhu?aa: relative pronoun '"which", "that" Was "whom"
: ~ i ad

Tunsii  relative pronoun WANWAY UAUIAWAN ua:aguuﬂuqnqaﬁQtﬂuﬂrzuﬂu
gaveylrslun

]
L5u The story which you describe interests me.

The story you describe interests me.

] L a 1] ‘rv &

unvzlilanryTarrniaulion relative pronoun  (dwirzmauvasniunlu
|

relative clause 129 Lguludrzlum

The situation which bothers John depresses me.

"
9:1utﬂ%uu;ﬂu The situation bothers John depresses me.

- -
5« the relative clause reduction transformation hBENITAN

G
Wfaar relative pronoun WAt "tense + be'" WDV relative clause
1

Lau

The girl who is sitting on the rock is selling lemonade.
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\I lﬂtq‘!vpv I v v
6. NNTeE NP Luaquwnﬁaqtuumlﬁﬂlvnur:quqggnua:gﬂh (191
vl [ ]

ﬁiga%uuua:gﬁqu) Lgu MMTAR NP 1“ passive voice transformation
1

-
(ﬁl?ﬂﬁ passive voice)

v |

¢
Toimd & Buoud  (Joseph E. Emonds)  lpuuy  deletion

transformation ﬂﬂﬂtﬂu
1

1. mrfhuieazsezau NP you  wasnTwazan will lulrzlum
] ] [} ]
o <
ardan lufirzam Ly
(You will) Please come in immediately.

(You will) Help me, won't you?

[= F .
“a

[
5. mrfianeasnturgay  should UazlTzau NP one

1 v v

. . ot
munalrelupinunsununiYy  Why

GRLURR
Why (should one) buy stock this time?

Why (should one) not be more prudent?

B ﬂﬁ?ﬁhﬁ?ﬂaz complementizers '"that" UWae "whether"

) v v

y
14 main clauses (aqﬂréiunmﬁununqu whether  WaZ that 92
1

- | =
\fnly dependent clauses  LWUU)
I

MBI

John asked whether he could leave.
John asked that he be given permission.
*Whether could he leave? (ungrammatical)

*That John be given permission. (ungrammatical)

Joseph E. Emonds, A Transformational Approach to
English Syntax (New York: Academic Press, 1976), pp. 24k-245,
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'
o
L, MIAMMIDaYNI UNTI (auxiliaries) be, have Wa¥ do

v

naunuls slun
ﬁhnéqﬁ
You feeling pretty lonely?
They been doing their share of the work?
He come around here much any_more?
She ready to start the new job?

*I don't know if they been doing their share of the work.

(ungrammatical)

o = - - = '\l v
Se NMTNANTRA~UT 237U you uﬂQ?ﬁnnﬁtﬂnufﬂﬁ:ﬂTU1ﬁﬁﬁ1u%a L
AU
Feeling pretty lonely?

Been doing their share of the work?

(= Have you been doing their share of the work?)
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- ¢ = A =y 4' -~ d‘
uqqaqthﬂﬁanum ataualuy  idnlNadum 14 NTRYARY 2491
1
9 quihthQTuu ﬁﬁtf?ﬂﬁtﬁﬂ&ﬁﬁaﬂﬂﬁﬁnrumvn (NBABINOY) L NUTALUNBUAY 1
1

ﬁm.uuyuﬁﬁﬁnr uuﬁunﬂGUtﬁu&1uu tuaﬂ W.H. 2514 ﬂ%vuuﬂwrQﬂﬁuuua

’ﬂ‘!?‘\ﬁ.l‘f::ﬂij & mmmmmamm& AN HUHUH‘WﬁﬂT Hﬂﬂﬁ“ﬂﬂ@ﬂt‘ﬁﬂﬂ‘lﬂu
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